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704.7 + 1072 =
665.9 100 =
100D =

9x 10" =

4 x 10 =

564.3 x 10* =
9% 100 =
1004 =

1003 =

7% 100D =

=N e

2152+ 100% =
10(—2) —
806.3 + 100 =
7 %10 =
10(—2) —
211.7 x 1002 =
138.8 x 100 =
10(—2) —
593.8 x 100 =

1 x 1001 =
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704.7 + 102 = 70470
665.9 + 1072 = 66590
1077 = 0.1
9x10°=9

4 x 10* = 400

564.3 x 10* = 56430

9 x 10 = 0.0009
107 = 0.0001

1072 = 0.001

7x 1000 =07

=LA

215.2+ 10 = 2152000
1072 = 0.01

806.3 + 107 = 8063000
7 %10 = 70

1072 = 0.01

211.7 x 1072 =2.117
138.8 x 10 = 0.01388
1072 = 0.01

593.8 x 107 = 0.5938

1x10°0 =0.1
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